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pl -33.91+ 0.00
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= po 4237+ 0.0
L p1 -34.71% 0.00

3000

TP delay [ns]

TVC(cbch) (31,14

~ g, rz8e+05 | 25
-, pD 4258+ 0.0
L p1 -35.52+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,3

AT 1z, uoe+ud [ 25
- po 4257+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,7

- nun 3r79e+U5 / 25
- pO 4272+ 0.0
pL -36.51+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, l

- RIS zzse+u6/25
= po 4256+ 0.0
pl -35.96 + 0.00

TP delay [ns]

TVC(cbch) (31,15

T nuis g oe+U5 / 25
= pO 4266+ 0.0
p1 -35.08 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,0

A~ 1 nuiL 8 rve+ud | 25
= po 4224+ 0.0
p1 -35.59+ 0.00

TP delay [ns]

TVC(cbch) (3,24

- rnu2z0e+04 [ 25
== po 4232+ 0.0
pl -35.49 + 0.00

50 10'0
TP delay [ns]

TVC(eb,oh)=(3, 2,8

- s, 718e+U4 1 25
- po 4275+ 0.0
p1 -35.58:+ 0.00

TP delay [ns]

TVC(cbch) (3,212

T g, 1sse+U5 / 25
4275+ 0.0
-35.31+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,2,1)

x- 1 i Sude+ud | 25
po 4247 + 0.0
pL -36.65+ 0.00

TP delay [ns]

TVC(c,b ch) (3 2,5

-1 nu.493e+u4 [ 25
pO 4259+ 0.0
p1 -36.84 + 0.00

TP delay [ns]

TVC(eb,oh)=(3, 2,9

T nuiggyle+us / 25
pO 4285+ 0.0
p1 -36.24 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, 2 13

Tinairo/e+U5 /25
pO 4278+ 0.0
p1 -35.64 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (3,2,2)

X~ 1 iz 2use+u4 [ 25
- po 4253+ 0.0
L pl -37.38+ 0.00

3000

TP delay [ns]

TVC(cbch) (32,6

T g,y /e+ud [ 25
- pO 4257+ 0.0
[ pl -36.29+ 0.00

3000

TP delay [ns]

TVC(CbCh) (3, 2 10

1000

0

1 nuiL8Yze+U6 / 25
- po 4316+ 0.0
[ p1 -37.84 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,214

~ i, 48e+05 / 25
pD 4270+ 0.0
-35.22+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,3

A7 1 nuz.4o2e+04 [ 25
- po 4253+ 0.0
pl -37.1+ 0.0

TP delay [ns]

TVC(c,b ch) (3 2,7

= i Ozge+us / 25
= po 4259+ 0.0
p1 -35.67 + 0.00

TP delay [ns]

TVC(eheh=(3, 2,

T 454e+u6/25
pO 4311+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 2 15

Tonanz.yze+u5 /25
pO 4283+ 0.0
p1 -35.16 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,0)

T Lse+ud /25
= pO 4243+ 0.0
p1 -35.68 + 0.00

TP delay [ns]

TVC(cbch) (3,34

i Lsse+ud [ 25
== po 4263+ 0.0
pl -34.19+ 0.00

[ C =29.24 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (3 3,8

sz revua 125
- pD 4265+ 0.0
p1 -35.15+ 0.00

TP delay [ns]

TVC(cbch) (3,312

T rnug.4r0e+05 / 25
po 4280+ 0.0
pl -35.71+ 0.00

L n n n n 1 n
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,31

A7 1 nuiLBobe+u4 / 25
- po 4253+ 0.0
p1 -36.49 + 0.00

TP delay [ns]

TVC(c,b ch) (3 3,5

-1 nu 1b4e+u4 / 25
4277+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(c,b ch) (3 3,9

-1 nuw,puYe+Us / 25
po 4267+ 0.0
p1 -34,58 £ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 3 13

T nuiz.azoe+U5 [ 25
pO 4284+ 0.0
pl -35.85+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (3,3,2)

X~ 1z 1uze+u4 [ 25
-, po 4269+ 0.0
[ p1 -35.93+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,36

T rnug z1/e+V4 [ 25
- pO 4285+ 0.0
[ pl -35.51+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 3, 10

1 nuiL447e+06 / 25
- po 4290+ 0.0
[ p1 3534+ 0,00

TP delay [ns]

TVC(cbch) (3,314

i 34e+U5 / 25
F pD 4268+ 0.0
L p1 -35.81+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,33

e po 4266+ 0.0
pL -34.53+ 0.00

x- 1z Szae+04 | 25

[ C =28.96 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (3 3,7

po 4299+ 0.0
pl -34.52 + 0.00

-1 nui 340e+U5 / 25

[ C=28.97[ps/ch] %,
o+ o
TP delay [ns]

TVC(c,b ch) (3, 3

= pO 4291+ 0.0

g ; azue+u6/25

36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 3 15

E po 4288+ 0.0
p1 -36.32  0.00

a1 e+us /25

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,0

K- 1nug Lrie+u4 /25
= po 4250+ 0.0
p1 -36.66+ 0.00

TP delay [ns]

TVC(cbch) (34,4

= 1L ysbe+ud / 25
- pO 4284+ 0.0
p1 -36.03+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (3 4,8

1 nuz, 1ope+U5 / 25
pO 4260+ 0.0
p1 -34.25+ 0.00

TP delay [ns]

TVC(Cbch) (3, 4 12

-1, rope+U5 / 25
po 4283+ 0.0
p1 -36.3+ 0.0

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 E,

3000

2000

1000

TVC(cbch) (3,4,1

AT 1 nuiz, 180e+u4 [ 25
- po 4246+ 0.0
p1 -36.2+ 0.0

TP delay [ns]

TVC(c,b ch) (3 4,5

= nun Zibye+ud [ 25
== po 4289+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(c,b ch) (3 4,9

1 nuiLa8Ye+U6 / 25
- po 4270+ 0.0
p1 -34,66 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, 4 13

~ 1 nug.g50e+U5 / 25
4272+ 0.0
-37.1+ 0.0

TP delay [ns]

4000

2000

1000

4000

2000

4000
3000
2000

1000

0

4000
3000
2000

1000

TVC(cbch) (3,4,2)

X~ 1 iz b1oe+U4 [ 25
- po 4242+ 0.0
L pl -35.75+ 0.00

3000

TP delay [ns]

TVC(cbch) (34,6

1000

“ iy 1/oe+04 [ 25
- pO 4297+ 0.0
[ pl -37.32+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(3, 4, 10

~1nuiz.404e+06 / 25
po 4277+ 0.0
p1 -35.49 % 0.00

TP delay [ns]

TVC(Cbch) (3, 4 14

T buze+U5/ 25
pD 4270+ 0.0
p1 -36.7+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,3

A1 g, 38Ye+ud | 25
o, po 4262+ 0.0
pL -36.81+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,7

= 1nu 18 /e+U5 / 25
[Foses. po 4299+ 0.0
p1 -35.86 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 4

T, iUbe+U6/25
po 4283+ 0.0
p1 -34.69+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 4 15

T nair.u3soe+Us / 25
4271+ 0.0
-35.91+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000
3000 7
2000 - 7
1000 |- C T
| , =
50 100
TP delay [ns]
TVC(cbch) (3,58)
Srnun 7 ge+ud [ 25
4000 . pO 4293+ 0.0
-34.93+ 0.00
3000 - 7
2000 7
wor C =28.63 [ps/ch]™, 7]
| L
0 50 100

4000

3000

2000

1000

TVC(cbch) (3,5,0

K™ nui rsoe+u4 / 25
- po 4256+ 0.0
pl -35.22+ 0.00

TP delay [ns]

TVC(cbch) (3,54

-1z zoge+ud | 25
- pO 4269+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(cbch) (3,5,12

Ty 54ze+05 / 25
e po 4340+ 0.0
pl -36.19+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51

AT 1 nuz.uuse+ud [ 25
- po 4283+ 0.0
pl -35.71+ 0.00

TP delay [ns]

TVC(c,b ch) (3 55

Cnu 3r8e+u4 /25
= 4257+ 0.0
-34.69 + 0.00

[ C =28.83 [ps/ch] 7]

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 59

T inuy, 7z3e+U5 / 25
po 4314+ 0.0
pl -35.16 + 0.00

[ C =28.44 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (3,5,13

T inusa13e+U5 / 25
- pO 4333+ 0.0
pl -36.65+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

AL b?ye»fus/zs

4000 _- pO 4323+ 0.0

L pl -34.69 + 0.00
3000 -— N
2000 N
oo C = 28.83 [ps/ch] ™. 7

- - <4

[ -

1 1
0 50 100

4000

3000
2000

1000

TVC(cbch) (3,5,2)

TP delay [ns]

TVC(cbch) (3,56

AT 1nugs40e+04 /25
__ po 4287+ 0.0
- pl -35.86+ 0.00

3000

- g byse+ud [ 25
fo, pO 4260+ 0.0
[ pl -34.37 + 0.00

- C = 29.00 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (3, 5 10

TP delay [ns]

TVC(cbch) (3,5,14

-1 1ug.495e+05 / 25
- pD 4332+ 0.0
L pl -36.67 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,53)

T nunzaoe+u4 [ 25
s, pO 4295+ 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(c,b ch) (3 57

- 1nu 3z1e+U5 / 25
- pO 4268+ 0.0
p1 -34.28+ 0.00

[ C=29.17 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 5

T bu::e+u6/25
pO 4330+ 0.0
p1 -34.81+ 0.00

[ C=28.73 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (3,5,15

T inu.z4/e+U5/ 25
- pO 4344+ 0.0
p1 -36.75+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,0

A~ 1 nui4r0e+04 25
= po 4228+ 0.0
-34.14 + 0.00

[ C =29.29 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (36,4

= 1 9sge+ud [ 25
=5 po 4297+ 0.0
pl -36.68 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (3 6,8

Tz 3o1e+U5 / 25
pO 4281+ 0.0
p1 -36.47 + 0.00

TP delay [ns]

TVC(cbch) (3,6,12

-1y uspe+Us / 25
po 4266+ 0.0
pl -34.99 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,6,1

A7 1 nuiLbzoe+ud / 25
- po 4240+ 0.0
p1 -34.6 + 0.0

[ C =28.90 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (3 6,5

= 1nu Ore+ud / 25
[ree, po 4313+ 0.0
pl -37.47 + 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

T inai 715e+U6 / 25
pO 4297+ 0.0
pl -35.95+ 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (3, 6 13

T nun.314e+U5/ 25
pO 4281+ 0.0
pl -35.78 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (3,6,2)

X~ 1L 7z9e+04 [ 25
-, po 4258+ 0.0
L pl -35.24 £ 0.00

3000

TP delay [ns]

TVC(cbch) (36,6

©1nuy,184e+04 / 25
pO 4312+ 0.0
pl -36.81+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 6, 10

1 nuiz,195e+U6 / 25
po 4288+ 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(cbch) (3,6,14

-1y s8ve+Us / 25
pD 4292+ 0.0
pl -36.33+ 0.00

PR R R S R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (36,3

S 7 4e+04/25
- pO 4245+ 0.0
pL -34.58+ 0.00

[ C =28.92 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (3 6,7

-1 nu y1be+us / 25
- pO 4314+ 0.0
p1 -37.74+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (3, 6

EEALEVX Ubbe+U6/25
pO 4305+ 0.0
p1 -36.47 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 6 15

T num.153e+U5 / 25
pO 4283+ 0.0
p1 -35.43+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0)

X~ 1w yose+U4 [ 25
po 4250+ 0.0
p1 -35.17 + 0.00

TP delay [ns]

TVC(cbch) (37,4

S rnuzzie+04 25
po 4259+ 0.0
pl -35.45+ 0.00

- C =
- o
TP delay [ns]
TVC(cbch) (3 7,8

i bzze+U5 / 25
po 4266+ 0.0
pl -36.94 + 0.00

1
50 00

TP delay [ns]

TVC(cbch) (3,7,12

Ty p41e+Us / 25
po 4269+ 0.0
pl -34.54 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 E,

3000

2000

1000

TVC(cbch) (3,7,1)

T zzze+ud [ 25
pO 4255+ 0.0
p1 -35.03 + 0.00

TP delay [ns]

TVC(c,b ch) (3 7,5

-1 nu.bzae+u4 [ 25
pO 4248+ 0.0
p1 -34.76+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,9

1 nuiL 3u4e+U6 / 25
pO 4283+ 0.0
p1 -36.32:+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 7 13

T nugpule+us / 25
pO 4256+ 0.0
p1 -34.88 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (3,7,2)

X~ 1 iz Sose+u4 | 25
po 4272+ 0.0
p1 -36.07 £ 0.00

TP delay [ns]

TVC(cbch) (37,6

©nuig,835e+04 / 25
pO 4265+ 0.0
pl -35.81+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 7, 10

1 nuiz,uzoe+U6 / 25
po 4295+ 0.0
p1 -36.49 % 0.00

TP delay [ns]

TVC(Cbch) (3, 7 14

T 1nug, 1pe+U5 / 25
pD 4255+ 0.0
pl -34.28+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3)

A 1nuiz 13re+ud [ 25
po 4270+ 0.0
pL -35.38:+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,7

-1 nui 1yde+us / 25
po 4275+ 0.0
p1 -35.53+ 0.00

TVC(c,b ch) (3, 7

TP delay [ns]

AL 5Ude+l}6/25
pO 4293+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 7 15

Tinun, r3/e+U5/ 25
po 4262+ 0.0
p1 -35.26 + 0.00

TP delay [ns]



TVC(cbch) (3,8,0)

4000 [

3000

2000

1000

A~ 1 nuiz,Quae+ud | 25
4276+ 0.0
p1 -37.29+ 0.00

TP delay

TVC(cbch) (3,84

4000 |

[ns]

- rnuzu1ze+ud | 25
4276+ 0.0
pl -35.31+ 0.00

pD

pO
3000~ ]
2000 - ]
1000~ C ]
1 1 -
50 100
TP delay [ns]
TVC(cbch) (3 8,8)
~rnuiL413e+U5 / 25
4000 [ 4305+ 0.0
p1 -38.14 + 0.00

3000

2000

1000

0

TP delay

TVC(Cbch) (3, 8 12

4000 [,

3000

2000

1000

pO

[ns]

- 1 nuy yUoe+u4 / 25
4293+ 0.0
p1 -36.13+ 0.00

L n n n n 1 n
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,1)

e, po

AT 1 nuiLgoze+u4 [ 25
4252+ 0.0
-35.47 + 0.00

p1

TP delay [ns]

TVC(c,b ch) (3 8,5

pO
pl

-1 nuz.4uze+u4 [ 25
4264+ 0.0
-35.14 + 0.00

TP delay [ns]

TVC(c,b ch) (3 8,9

e, po

~ 1 nuiL4ule+u6 / 25
4309+ 0.0
-37.33+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 8 13

T nugzu1e+U5/ 25
4282+ 0.0
-35.93+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (3,8,2)

= po

X~ 1z 31ze+04 [ 25
4255+ 0.0
p1 -35.91+ 0.00

TP delay

TVC(cbch) (3,86

F= P°

[ns]

- 11Uy, 130e+04 / 25
4270+ 0.0
pl -35.18 + 0.00

TP delay

TVC(eb,oh)=(3, 8, 10

1000

0

= "

[ns]

1L, rz9e+U6 / 25
4315+ 0.0
p1 -37.68+ 0.00

TP delay

TVC(Cbch) (3, 8 14

peess, pD

[ns]

~ 1y pyze+U5 / 25
4280+ 0.0
pl -36.21+ 0.00

TP delay

P B T
50 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3.8,3)

e po

A1 nuig.Ysse+ud 25
4286+ 0.0
-37.06+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (3 8,7

-1 nug 19ye+u5 / 25
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TP delay [ns]
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p1 -35.61+ 0.00
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TVC(cbch) (4 4,4

- rnuigge+u4 [ 25
po 4259+ 0.0
pl -36.89 + 0.00

[ C=27.11 [ps/ch ]
e T
TP delay [ns]
TVC(cbch) (4 4,8

- s G se+ud | 25
po 4296+ 0.0
p1 -37.65+ 0.00

TP delay [ns]

TVC(cbch) (44,12

T Ly rse+us / 25
po 4265+ 0.0
pl -34.75+ 0.00
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p1 -36.05 + 0.00
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TVC(c,b ch) (4 4,5

- nug 11be+04 / 25
- pO 4274+ 0.0
p1 -37.79+ 0.00

TP delay [ns]

TVC(c,b ch) (4 4,9

1 nuig vbye+us / 25
pO 4302+ 0.0
p1 -36.17 + 0.00
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50 00
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T inuisb/e+u5/ 25
= 4281+ 0.0
-35.41+ 0.00
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TP delay [ns]

TVC(Cbch) (4 4,6

- g zebe+u4 [ 25
e pO 4275+ 0.0
[ pl -37.69+ 0.00
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TP delay [ns]

TVC(ebeh)=(4, 4, 10

T nuiLyrZe+U6 / 25
po 4303+ 0.0
p1 -36+ 0.0

TP delay [ns]

TVC(Cbch) (4, 4 14

-1 1 4be+u5 ] 25
= pD 4271 0.0
N pl -34.43+ 0.00
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po 4269+ 0.0
p1 -36.73+ 0.00
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po 4270+ 0.0
p1 -35.08 + 0.00
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TVC(cbch) (4,50)
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4241+ 0.0
-36.31+ 0.00
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TP delay [ns]

TVC(cbch) (4,54

- iU Z19e+04 [ 25
== po 4244+ 0.0
pl -36.71+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (4 5,8

T rnaiLzze+U5 / 25
= pO 4295+ 0.0
pl -37.29+ 0.00

TP delay [ns]

TVC(cbch) (4,5,12

T rnuzgsze+Us / 25
pO 4279+ 0.0
pl -35.14 + 0.00
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TVC(c,b ch) (4 55

-1 nu.2yze+u4 [ 25
- pO 4249+ 0.0
pL -36.85+ 0.00

TP delay [ns]
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<1 nuiL guse+u6 / 25
pO 4312+ 0.0
p1 -37.17+ 0.00

TP delay [ns]
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Tinua3.0re+u5 /25
pO 4277+ 0.0
p1 -34.56 + 0.00
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p1 -36.85+ 0.00

TP delay [ns]

TVC(cbch) (4,56

- rnuig,0z3e+u4 / 25
pO 4258+ 0.0
p1 -36.12+ 0.00

TP delay [ns]

TVC(eb,oh)=(4, 5, 10

T nuiLy41e+U6 / 25
po 4308+ 0.0
p1 -36.71+ 0.00

TP delay [ns]

TVC(cbch) (4,5,14

T rnuigps1e+Us / 25
pD 4290+ 0.0
pl -35.76 + 0.00
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- po 4265+ 0.0
pL -35.92:+ 0.00
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TVC(c,b ch) (4 57

= Ui 5 ve+us / 25
po 4259+ 0.0
p1 -36.01+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 5

T, /Ube+U6/25
pO 4308+ 0.0
p1 -36.72+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 5 15

Tinug131e+U5/ 25
Fronee, po 4277+ 0.0
p1 -34.78 + 0.00

TP delay [ns]
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TP delay [ns]
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T Z2.b3e+u4 /25
pO 4255 0.0
pl -37.07 + 0.00

L ¢ ]
% o
TP delay [ns]
TVC(c,b ch) (4 6,8

©rnusi4/e+04 /25
PD 4273+ 0.0
pl -36+ 0.0

TP delay [ns]
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TanuiLo)/e+U5/ 25
PO 4287+ 0.0
pl -36.04 + 0.00
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'rHuIZH/E+U4/25
Y 4247+ 0.0
pL -37.04 + 0.00

TP delay [ns]

TVC(c,b ch) (4 6,9

<1 nu.U1se+us / 25
DO 4274+ 0.0
pl -35.98 + 0.00

TP delay [ns]

TVC(C, bch) (4,6,13

T z5e+u4 [ 25
PO 4277+ 0.0
pl -36.12 + 0.00
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pl -38.33+ 0.00

TP delay [ns]
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-1z y33e+ud [ 25
pO 4254+ 0.0
pl -37.02:+ 0.00

TP delay [ns]

TVC(cbch) (4, 6 10

Tinuy,/71e+05 / 25
DO 4289+ 0.0
pl -36.56 + 0.00
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pl -35.68 + 0.00
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= PO 4262+ 0.0
pL -36.32.+ 0.00
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TP delay [ns]

TVC(c,b ch) (4, 6
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pO 4291+ 0.0
-35.83+ 0.00

TP delay [ns]

TVC(C, bch) (4,6,15

S 2 ise+u5 /25
PO 4282+ 0.0
-35.78 + 0.00

TP delay [ns]
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p1 -36.23+ 0.00

TP delay [ns]

TVC(cbch) (4,7,4

- rnuz3g1e+04 [ 25
po 4270+ 0.0
pl -36.95+ 0.00

- C =
= T
TP delay [ns]
TVC(cbch) (4 7,8

-1, 719e+U4 | 25
po 4282+ 0.0
p1 -36.31 0.00
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-1 nuig.400e+U5 / 25
po 4299+ 0.0
pl -35.53+ 0.00
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pO 4271+ 0.0
p1 -36.19+ 0.00

TP delay [ns]

TVC(c,b ch) (4 7,5

- 1nu.441e+04 [ 25
pO 4271£ 0.0
p1 -36.19+ 0.00

TP delay [ns]

TVC(c,b ch) (4,7,9

T nuiL 1bbe+U6 / 25
po 4301+ 0.0
p1 -36.12+ 0.00
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50 00

TP delay [ns]

TVC(c,b Ch) (4, 7 13

T inai/18e+u5 / 25
4307+ 0.0
-36.11 + 0.00
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X~ 1z zose+u4 | 25
po 4262+ 0.0
p1 -36.25+ 0.00

TP delay [ns]

TVC(cbch) (47,6

©1nug,u4ve+u4 / 25
pO 4276+ 0.0
pl -36.26 + 0.00

TP delay [ns]

TVC(ebeh)=(4, 7, 10

Tnun154e+U6 /25
po 4295+ 0.0
pl -35.65+ 0.00
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TVC(cbch) (4,7,14

Tz plze+Us /25
pD 4304+ 0.0
pl -35.27 + 0.00
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A~ 1 nuiz 353e+U4 [ 25
- po 4281+ 0.0
pL -36.32:+ 0.00

TP delay [ns]

TVC(c,b ch) (4 7,7

= Ui 2u4e+U5 | 25
= po 4283+ 0.0
p1 -35.13+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 7

1)
T nuiLpg/e+u6 / 25
pO 4298+ 0.0
-36.38 + 0.00

TP delay [ns]

TVC(c,b ch) (4, 7 15

1 nuiz gyze+U5 [ 25
4305+ 0.0
-35.11 + 0.00

TP delay [ns]
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4247+ 0.0
pl -36.23 0.00
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— 1 uip,Uzoe+U4 | 25
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p1 -34.83 + 0.00
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4247+ 0.0
p1 -36.61+ 0.00

TP delay

TVC(c,b ch) (4 8,5

[ns]

- U 3b3e+u4 / 25
4252+ 0.0
pl -36.62 + 0.00

TP delay

TVC(c,b ch) (4 8,9

pO

[ns]

"1 nu.by/e+u5 / 25
4257+ 0.0
p1 -34.57 + 0.00

TP delay

TVC(c,b Ch) (4, 8 13
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[ns]

Tinun 4.04e+05/ 25
4254+ 0.0
pl -35.56 + 0.00

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (4,8,2)
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4259+ 0.0
p1 -35.99 + 0.00

TP delay
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[ns]

Ty p3e+u4 / 25
4265+ 0.0
pl -36.36 + 0.00

TP delay

TVC(cbch) (4, 8 10
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[ns]

1 nuiLbyge+U6 / 25
4282+ 0.0
p1 -35.37+ 0.00

TP delay
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~ 1wy z9ve+U5 / 25
4257+ 0.0
pl -35.96 + 0.00

TP delay
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-36.57 + 0.00
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pO
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-1 nug.Usle+us / 25
4256+ 0.0
-35.96 + 0.00
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TP delay [ns]

TVC(c,b ch) (4, 8

T 4U::e+u6/25
4271+ 0.0
-34.56 + 0.00

TP delay [ns]

TVC(c,b ch) (4, 8 15

71 nu.z00e+U5 / 25
4252+ 0.0
-34.68 + 0.00

TP delay [ns]
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TP delay [ns]
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-1 boze+ud | 25
- pO 4272+ 0.0
p1 -36.42:+ 0.00

50 5
TP delay [ns]

TVC(cbch) (4 9,8

1z, z48e+05 | 25
s, pO 4269+ 0.0
p1 -34.8+ 0.0

TP delay [ns]

TVC(Cbch) (4, 9 12

T rnug.go1e+U5 / 25
po 4290+ 0.0
pl -35.66 + 0.00
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-35.9 % 0.0

50 150
TP delay [ns]

TVC(c,b ch) (4 9,9

- nun 1.33e+U6 / 25
= 4281+ 0.0
-34.2+ 0.0

TP delay [ns]

TVC(ebeh)=(4,9, 13

-1 BE4e+US [ 25
pO 4293+ 0.0
p1 -35.95 + 0.00
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TP delay [ns]

TVC(Cbch) (4 9,6

1000

1 nuiL434e+05 / 25
pO 4299+ 0.0
pl -37.21+ 0.00

TP delay [ns]

TVC(eb,oh)=(4, 9, 10

T 1L, zoe+U6 / 25
a po 4278+ 0.0
[ p1 -33.31+ 0.00

- C =30.02 [ps/ch] ™. 1

0

1
50 100

TP delay [ns]

TVC(cbch) (4,9,14

1 up,po3e+U5 / 25
3 pD 4274+ 0.0
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TP delay [ns]
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-1 nug.03/e+U5 / 25
- pO 4301% 0.0
p1 -37.03+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 9

=g, 4yje+u6 125
E pO 4285+ 0.0
pL -34.14 % 0.00

TP delay [ns]

TVC(c,b ch) (4, 9 15

T num B3se+Us [ 25
pO 4293+ 0.0
p1 -35.22 + 0.00

TP delay [ns]
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ra yserud /25
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p1 -35.18:+ 0.00

TP delay

TVC(Cbch) (4, 10 4

pO

[ns]

- rnunLygle+ud / 25
4268+ 0.0
pl -35.16+ 0.00

TP delay

TVC(cbch) (4,10,8

[ns]

1 nuz.344e+05 / 25
4271+ 0.0
pl -36.18 + 0.00

1
100

TP delay

TVC(Cbch) (4, 10 12
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[ns]

1 nup,548e+U5 / 25
4297+ 0.0
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TP delay [ns]

TVC(c,b Ch) (4, 10 5

-1 U zbae+u4 [ 25
4261+ 0.0
-34.95+ 0.00

TP delay [ns]

TVC(c,b ch) (4,10,9

T nuiL g /5e+U6 / 25
4282+ 0.0
-36.05+ 0.00

1
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TVC(c,b ch) (4, 10 13

1 nup.qyze+U5 / 25
4306+ 0.0
-35.84+ 0.00
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p1 -34.82+ 0.00

TP delay

TVC(Cbch) (4, 10 6

[ns]

-y yrge+ud [ 25
4282+ 0.0
-36.4+ 0.0

TP delay

TVC(e,b.ch)=(4, 10, 10

pO
pl

[ns]

T 2.00e+U6 / 25
4309+ 0.0
-36.94 + 0.00

1
100

TP delay

TVC(CbCh) (4, 10 14

T g prze+Us /25
4300+ 0.0
pl -35.96 + 0.00
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pO
pl

[ns]

-1 nug zu1e+u5 / 25
4284+ 0.0
-35.51+ 0.00

TP delay

TVC(ehch)=(4, 10, 11

71 nuiz byoe+U6 / 25
4296+ 0.0
p1 -35.47 + 0.00

pO

[ns]

TP delay

TVC(cbch) (4, 10 15

[ns]

1 nup,535e+U5 / 25
4276+ 0.0
p1 -35.47 + 0.00
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[C=29.78 [ps/ch] . ]
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50 100

TP delay [ns]

TVC(cbch) (4, 11 4

- nuiz,09ae+u4 [ 25
5 po 4283+ 0.0
pl -35.41+ 0.00

50 10'0
TP delay [ns]

TVC(chh) (4, 11 8

T Lz oe+U5 / 25
= po 4280+ 0.0
pl -36.56 + 0.00

TP delay [ns]

TVC(c,b Ch) (4, 11 12

T g su/e+Us / 25
po 4288+ 0.0
pl -36.42+ 0.00
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[ns]

T 2.48e+04 /25
4250+ 0.0
pl -35.34 + 0.00

F= po
[ C =28.30 [ps/ch]
S(I) 10‘0
TP delay

TVC(cbch) (6, 6 10

- o

[ns]

T p.ze+u5 /25
4307+ 0.0
pl -35.68 + 0.00
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4276+ 0.0
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TP delay [ns]

-1 nug 145e+04 / 25
4263+ 0.0
-35.75+ 0.00
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100
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pl
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p1 -35.31+ 0.00
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TVC(cbch) (67,4

[ C =28.90 [ps/ch]

- 1nui.034e+04 [ 25
== po 4253+ 0.0
-34.6+ 0.0
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TP delay [ns]

TVC(cbch) (6 7,8

T 4.0e+04 /25
- pO 4264+ 0.0
pl -35.82+ 0.00
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Tz plze+Us / 25
= pO 4306+ 0.0
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= po 4268+ 0.0
p1 -36.52+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,5

-1 nu.4p9e+04 [ 25
e, pO 4266+ 0.0
pL -35.19+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,9

Tinun.a//e+u5/ 25
= pO 4276+ 0.0
p1 -36.17 + 0.00

TP delay [ns]
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Tinus3/e+U5/ 25
- pO 4301 0.0
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- C = 28.66 [ps/ch]

-1 nuz boze+ud [ 25
fo, pO 4273+ 0.0
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50 10'0
TP delay [ns]

TVC(eb,ch)=(6, 7, 10
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T 1L bz (e+U6 / 25
F- po 4295+ 0.0
o pl -36.73+ 0.00
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-1 nuizpoe+Us / 25
-, pD 4303+ 0.0
L pl -36.26 + 0.00
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e po 4272+ 0.0
p1 -35.38+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,7

[ C =29.09 [ps/ch]

1 nur 4luye+u4 /25
= po 4270+ 0.0
pl -34.37 + 0.00
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TP delay [ns]

TVC(c,b ch) (6, 7

T bbde+l}6/25
4305+ 0.0
-37.1+ 0.0

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 7 15

71 nuis n40e+U5 / 25
= pO 4312+ 0.0
p1 -36.46 + 0.00
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A~ 1 nui ro1e+04 / 25
= po 4237+ 0.0
p1 -34.78:+ 0.00

TP delay [ns]

TVC(cbch) (68,4

- a3 /e+04 [ 25
P po 4329+ 0.0
pl -38.71+ 0.00

TP delay [ns]

TVC(cbch) (6 8,8

iz Siaerud [ 25
= po 4267+ 0.0
p1 -34.93 0.00

TP delay [ns]

TVC(Cbch) (6, 8 12

1, 500e+U4 / 25
= po 4277+ 0.0
pl -35.68 + 0.00
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= pO 4234+ 0.0
p1 -34.63 + 0.00

TP delay [ns]

TVC(c,b ch) (6 8,5

-1 nu.asze+ud | 25
e po 4310+ 0.0
pl -37.54 % 0.00

TP delay [ns]

TVC(c,b ch) (6 8,9

[ C =29.05 [ps/ch]

-1 nuiL zyge+us / 25
= po 4273+ 0.0
p1 -34.42 + 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, 8 13

Srna o ys.27/25
=) po 4275+ 0.6
pl -35.55+ 0.02
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T Lsye+ud /25
F-. pO 4259+ 0.0
[ p1 -34.91% 0.00

3000

TP delay [ns]

TVC(cbch) (68,6

- g bBye+u4 / 25
- pO 4323+ 0.0
[ p1 -38.02 0.00

TP delay [ns]

TVC(eb,ch)=(6, 8, 10

1y, 5ype+U5 / 25
fo, po 4298+ 0.0
- pl -35+ 0.0

- C = 28.57 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (6,814

T, 15e+U5 / 25
__- 4271+ 0.0
| -34.5+ 0.0
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- po 4263+ 0.0
pL -35.61+ 0.00

TP delay [ns]

TVC(c,b ch) (6 8,7

- nuy 9z3e+u4 / 25
- pO 4340+ 0.0
p1 -37.73+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 8

Sy sze+u6/25
pO 4301+ 0.0
p1 -34.71+ 0.00

[ C =28.81[ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 8 15

T nuiz szoe+U5 / 25
=3 4281+ 0.0
-34.94+ 0.00

[ C =28.62 [ps/ch] ]

PR R SRR |
50 100
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K™ 1z zse+U4 [ 25

po 4270+ 0.0
pL -36.5+ 0.0

TP delay [ns]

TVC(cbch) (69,4

-1z 49pe+04 / 25

po 4292+ 0.0
pl -35.08 + 0.00

[ C =28.51 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (6 9,8

1nug.04/e+04 | 25

e, pD 4274+ 0.0
p1 -34.97 £ 0.00

TP delay [ns]

TVC(cbch) (6,9,12

1 nuig205e+U5 / 25

= po 4285+ 0.0
pl -33.92+ 0.00

[ C =29.48 [ps/ch] ™. 1]
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TP delay [ns]

TVC(c,b ch) (6 9,5

S nu fyure+ud [ 25
- pO 4306+ 0.0
pL -35.72:+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,9

~ a2 fuse+U5 / 25
- pO 4284+ 0.0
p1 -35.73+ 0.00
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[ p1 -37.54.+ 0.00

3000

-
1 1=

TP delay [ns]

TVC(cbch) (69,6

© 1 nu.go4e+04 | 25
- pO 4314+ 0.0
[ pl -35.64 + 0.00

TP delay [ns]

TVC(eb,ch)=(6, 9, 10

1000

~1nuy.8yYe+U5 / 25
- po 4305+ 0.0
- pl -35.88 + 0.00

TP delay [ns]
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-, pD 4300+ 0.0
L pl -36.42+ 0.00
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TVC(c,b ch) (6 9,7

1 nuiy gz1e+04 | 25
fe=s, po 4330+ 0.0
p1 -36.59 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 9

T bme+u6/25
- pO 4314+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 9 15

-1 nuis.usse+Us / 25
= pO 4308+ 0.0
p1 -36.37 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (6, 10 0)

T rnuiLsa4e+04 [ 25
4260+ 0.0
p1 -35.59 + 0.00
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TP delay

TVC(Cbch) (6, 10 4

[ns]

-1z 4p0e+04 / 25
4271+ 0.0
pl -36.67 + 0.00

TP delay

TVC(cbch) (6, 10 8

- pD

[ns]

-1, (bze+u4 [ 25
4276+ 0.0
pl -36.84 + 0.00

TP delay

TVC(c,b ch) (6, 10 12

- pO

[ns]

T rnuiz414e+05 / 25
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AT 1 nuiLyr3e+u4 | 25
4263+ 0.0
-36.06 + 0.00
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TP delay [ns]

TVC(c,b Ch) (6, 10 5

F- pO

-1 nu.484e+04 [ 25
4274+ 0.0
-36.15+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 10

e po

pl

T nug gloe+us / 25
4272+ 0.0
-35.74+ 0.00

TP delay [ns]

TVC(c,b ch) (6,10, 13
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4279+ 0.0
-35.24+ 0.00
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p1 -36.24 + 0.00

TP delay

TVC(c,b ch) (6, 10 6

[ns]

T rnuz.431e+04 / 25
4283+ 0.0
pl -36.74 + 0.00
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L C =27.22 [ps/ch .
n A
TP delay [ns]

TVC(e,b,ch)=(6, 10, 10

= "

T nuiL 188e+U6 / 25
4293+ 0.0
pl -36.66 + 0.00

TP delay

TVC(c,b Ch) (6, 10 14

[ns]

1 nuiLp4de+U5 / 25
4281+ 0.0
pl -35.24 + 0.00

TP delay
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TVC(Cbch) (6,10,3)

X- 1 i shae+U4 | 25
4270+ 0.0
p1 -36.95+ 0.00
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- U yyze+u4 [ 25
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T nuiLz93e+U6 / 25
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- rnuLy3le+ud / 25
e pO 4237+ 0.0
pl -36.00+ 0.00
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TVC(cbch) (6, 11 8

©nuig.pzve+u4 | 25
- pO 4284+ 0.0
pl -35.78 + 0.00

TP delay [ns]
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X~ 1 551e+U5 /25
- PO 4302+ 0.0
pl -34.79+ 0.00
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=1 i bobe+ud [ 25
- pO 4254+ 0.0
pL -37.09+ 0.00

TP delay [ns]

TVC(eh.ch)=(6, 11, 9

T onun1.4ze+u5/ 25
= po 4269+ 0.0
p1 -34.37+ 0.00

[ C =29.10 [ps/ch]
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50 100

TP delay [ns]

TVC(cbch) (611,13 )

Tonanyzze+u5 /25
- pO 4302+ 0.0
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AT 1nuzyize+ud /25
-— po 4295+ 0.0
- pl -35.73+ 0.00

3000

- 1nuzz84e+04 | 25
- pO 4262+ 0.0
[ pl -36.83+ 0.00

TP delay [ns]

TVC(c,b, ch) (6,11, 10

1000

X~ 1oy z14e+05 [ 25
-, po 4294+ 0.0
- pl -35.18 + 0.00
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TP delay [ns]

TVC(cbch) (6,11,7

=1 nui uzZ4e+U5 / 25
4266+ 0.0
-35.8+ 0.0

TP delay [ns]

TVC(e.b.eh)=(6, 11, 11

<1 nuiL zyne+U6 / 25
- po 4295+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(cbch) (611,15

-1 nui soge+us / 25
- pO 4316+ 0.0
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TVC(Cbch) (6, 12 4

= 1wz 20be+u4 [ 25
== po 4291+ 0.0
pl -37.58 + 0.00

50 10'0
TP delay [ns]

TVC(eb,oh)=(6, 12,8

- 1 uizuSoe+U4 [ 25
- pD 42513 0.0
p1 -35.06+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 12 12

T bsze+U5 / 25
= po 4277+ 0.0
-34.62+ 0.00
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e po 4244+ 0.0
pL -33.58 £ 0.00

[ C=29.78 [ps/ch] ™. 7
o o
TP delay [ns]

TVC(c,b Ch) (6, 12 5

- nu 18ze+u4 [ 25
F pO 4284+ 0.0
pL -36.81% 0.00

TP delay [ns]

TVC(eb.oh)=(6, 12,9

T nuiL g r8e+us [ 25
4274+ 0.0
-34.9 £ 0.0

I C =28.66 [ps/ch] 7
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Tinun1ave+us /25
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I C =28.76 [ps/ch]

PR R SR |
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e po 4271£ 0.0
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TVC(c,b Ch) (6, 12 7

- 1nug 3o1e+ud / 25
= po 4316+ 0.0
p1 -38.14 + 0.00

50 100
TP delay [ns]

TVC(Cbch) (6, 12 11

1 nuiL4zae+06 / 25
= pO 4304+ 0.0
p1 -35.75+ 0.00

TP delay [ns]

TVC(cbch) (6, 12 15

T inuizzsse+us/ 25
e pO 4258+ 0.0
-34.2+ 0.0

[ C=29.24 [ps/ch]

PR R SRR |
50 100

TP delay [ns]



TVC(c,b Ch) (6, 13 0) TVC(c,b Ch) (6,13,1) TVC(c,b,ch)=(6, 13, 2) TVC(c,b Ch) (6,13,3)
- sdse U4 ] 25 A 1L akse+Ud | 25 T Ko guy7/25 A1z 1hzevUd ] 25
4000 fm, pO 4255% 0.0 4000 e, po 4266+ 0.0 4000 f=, po 4263+ 0.0 4000 fs po 4268+ 0.0
pL -36.7+ 0.0 pl -36.7 £ 0.0 [ Pl -36.25: 0.00 Pl -36.28+ 0.00

3000

- 3000 =1 3000 -1 3000 -1

2000 - 2000 = 2000 = 2000

1000 - 1000 = 1000 =1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,134 TVC(c, bch) (6,135 TVC(cbch) (6.13,6 TVC(c, bch) (6,137

T, 1249+ua 125 S| U:?le+04/25 LR 121e+u4 125 T, AJ)JEH)A/ZS
4000 [, 4000 k5, 4000 [, 4000 k&,

= pO 4215+ 0.0 = pO 4219+ 0.0 = pO 4223+ 0.0 - pO 4248+ 0.0
pl -35.42. 0.00 pL -35.87 + 0.00 F pl -35.39:+ 0.00 pL -35.62+ 0.00

3000 - -1 3000 =1 3000 -— —- 3000 1

2000 [~ 1 2000 N 2000F ] 2000 1

1000 C ] 1000 ] woor C = 28.25 [ps/ch ] 100r C = 28.08 [ps/ch ]

1 1 - 1 1 - 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb,ch)=(6, 13,8 ) TVC(eb,oh)=(6, 13,9) TVC(eb,ch)=(6, 13, 10) TVC(e.bch=(6, 13, 11)
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